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What kind of bond forms when alpha
carboxyl group of one amino acid reacts and
bonds with alpha amino group of another
amino acid?

(1) Hydrogen bond

(2) Hydroxyl bond

(3) Peptide bond

(4) Glycosidic bond

The tertiary structure of protein is
maintained by -

(1) Hydrophobic bonds

(2) Electrostatic bonds

(3) Van der Waals forces

(4) All of the above

By which bond is the sugar attached to the
heterocyclic base (Purine or Pyrimidine)?

(1) Beta-N-Glycosidic bond

(2) Acid Anhydride bond

(3) Phosphodiester bond

(4) Polyfunctional bond

Which of the following statements about the
nature of enzyme catalysis is correct?

(1) An enzyme can change the
equilibrium state of a catalysed
reaction by lowering the energy of
activation of that reaction.

(2) An enzyme cannot change the
equilibrium position of the reaction
it catalyses but it lowers the energy
of activation of that reaction.

(3) An enzyme can lower the energy of
activation of the reaction it
catalyses by increasing the
molecular collisions between the
molecules.

(4) An enzyme reduces the free energy
difference between the substrate(s)
and the product(s) but cannot
change the equilibrium state of the
reaction it catalyzes.
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5. The enzymes of the citric acid cycle are
located in the mitochondrial matrix, except -
(1) Succinic acid dehydrogenase
(2) Isocitrate dehydrogenase
(3) Fumarase
(4) Malate dehydrogenase

6. Alcohol Dehydrogenase {(ADH), an enzyme
responsible for alcohol metabolism, oxidizes
ethanol into -

(1) Acetic Acid

(2) Lactic Acid

(3) Acetaldehyde

(4) Malondialdehyde

7. Long chain fatty acid are absorbed by -
(1) Plasma
(2) Blood
(3) Semen
(4) Lymph

8.  Which body organ cannot produce purines?

(1) Liver
(2) Brain
(3 Kidney
(4) Pancreas
9. The end product of purine metabolism is -
{1) Hypoxanthine
(2) Xanthine
(3) Uric Acid
(4) Oxaloacetic Acid

10. Under standard conditions, free energy for
hydrolysis of ATP to ADP is -
(1) -30.5 kJ/mol
(2) -30.5 kcal/mol
(3) -32.2kJ/mol
(4 -32.2kcal/mol

9.
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(1) Fpa
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@) IR
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@) GRm

(@) IR

@) ST s
TEe gRRefEl ¥, TAW 9 Tl
STASITEST 7 Jad Soll &l & —

(1) -30.5kJ/mol

(2) -30.5 kcal/mol

3) -32.2kJ/mol

(4) -32.2 kcal/mol
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11. In the Electron Transport Chain, cytochrome 11. Seiggi=  oRasT  sf@em  #, TReHE
oxidase is effectively inhibited by - siiediesr waa & Hefdg &mar & ~
(1) Rotenone (1) <IREH ERT
(2) Oxygen (2 SliedieE
(3) Antimycin—A (3) TEWESH-U gRT
(4) Carbon monoxide @) BET AR—aiEEE §R
12. The site of oxidative phosphorylation is - 12. SiRieRkRa iewiReliEor & e & —
(1) Complex I of inner membrane of (1) FESBiFsdl &I ARG RBresil BT
mitochondria el 1
(2) Outer membrane of mitochondria Q) ¥AECSitear @ 9= Breen
(3) Complex V of inner membrane of () TESTiRgm o aTaR® Rieel @1
mitochondria Hga v
(4) Intermembrane space of @) WECHRE P AR Riee wE
mitochondria
13.  Which among these is known for the proper 13. &0 aiffar & @ wwddar @1 FeiRa
thermodynamic function for determining the e $ fow o od 9 % ske
: . FSITING BRM & ®U § SfHT ol
spontaneity of a reaction? a7
(1) Gibbs energy ('1) frsg Tett
(2) Entropy @) T
3) Enthal
24; Boltzn{:znn constant @ e
(@) siecoEE ReRim
14. What type of RNA participate in splicing of 14. mRNA & TERiT ¥ B9 W ARTAL
mRNA? AT ofal 87
(1) tRNA (1) tRNA
(2) RNA (2) 1RNA
(3) siRNA (3) siRNA ]
(4) snRNA (4) soRNA
15. Which part of mRNA is involved in the 15. TI&H TRIPM dF SRT mRNA &1 Uga™ a
recognition of mRNA by the protein TAT 57 - exoribonucleases FNT
translation machinery and stabilizing the R}ﬁﬂ'ﬁlﬂﬁlﬁ% TSl DT PFg 87 mRNA :
mRNA by preventing the nucleolytic attack B e & 3 mRNA &7 & 97 96T *
by 57-exoribonucleases? gfe 27 |
) ?:nZ—memylgumosine cap at the O 5RY® 7:@3113]@%;[ B
(2) The poly (A) “tail’ at the 3" end @ 3-RR el (©) I
(3) Both (1) and (2) @ @R
(4) None of the above @ FIEP_{?E[ # 9 g T
i
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16. During the S phase of cell cycle, the nuclear 16. PIUGT TF & S SART & IRF, HRBII
DNA is replicated for how many times? SN, &7 fea ar yfaferfesor gar 87
(1) Four 1 =R
(2)  Three (2 <+
3) Two 3) =
(4) One (4) Tdh
17. The phenomenon where multiple codons 17. 98 TR¥ W& $s DIeA (& o SHH TS
decode the same amino acid is called as - BT TIPS H E, BEART & —
(1) Ambiguity (1) Sl
(2) Degeneracy (2) e
(3) Universality (3) EEEiRsd
(4) Missense effect @) PR TE
18. 'What is the function of Chaperones? 18. URN BT &1 B 87
(1) During post-translational processing (1) URe—gigeRFa SRIRT @ gNE
prevent wrong folding o BifesdT &l DT
(2) During protein targeting label the (2) WEH TFlieT & SRME Yasd Bl
destination RCRECTGI
(3) During post-translational processing () Ure—gibewEd TRRIT & N
produces proteolytic cleavage wfeififes ey S BT
(4) During post-translational processing @) UrE—STEd NRRIT 3 ORE
helps in subunit aggregation TR e § qeEe
19. Mucor belongs to which class of fungi? 19. ®aR dad e o § d&fta 87
(1) Oomycetes (1) SAEREN
(2) Ascomycetes 2) vEHERES
(3) Basidiomycetes 3) RfEERES
4) Zygomycetes @ SETAERERT
20. Which of the following best defines an 20, TFr=ifaRea # & @9 sfi=peia @& Ga”™
oncogene? wq | gRAIRT Hear 87
(I) An oncogene is a dominantly (1) TS IFeniE T BT 9
expressed mutation which gives a I SARTTT &, Wl U
cell a growth or survival advantage DIRMBI BT gl O STRSNIAAT Bl
(2) Oncogene is exclusively found in a;m\é?f & . . ]
viral genome (2) di=eiE ;qm 3R daer faumy
. . RICIRGIH
(3) Oncogene codes for a protein wh?ch 3) S W UPR B oEE @
prevents the cell from undergoing FE e oW Rl W
apoptosis TR 3§ &9 ¥ AFal §
(4) Oncogene codes for a cell cycle @ DIRST T 99T OIS @l
control protein SHIeie BIS BT &
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21. Which cell organelle is involved in the 21. &9 I BIEGN TOSRE & SEARD
initiation of the intrinsic pathway of TR B IR™ $9 & dag 27
apoptosis?
(1) Nucleus 1) o=
(2) Mitochondria (2) wECEiFg
(3) Endoplasmic reticulum 3 USTafEe Wegean
(4) Lysosomes 4) <IEENEE
22. 'Which second messenger signals the release 22, ®IF W Hovs ISR USIcivHD %%qgaﬂ
of Ca** from the endoplasmic reticulum? ¥ Ca™ D RHE $T Ohd a1 87
(1) Inositol triphosphate (1) sHfEia TgBiThe
(2) c-AMP (2) HW—vuEdL
(3) cGMP (3) —igEd
(4) None of these @ Y DE TS
23. Type of chlorophyll present in 23. UEANEIRTT § TR WM Gl FoRiibe
Cyanobacteria? 8?7
(1) Bacteriochlorophyll 1) JRRAFARIA
(2) Chlorophyll-a (2 TERIe—T
(3) Chlorophyll-b (3) TARIe—d
(4) None of the above @ G‘ZI‘{IE‘H Y PE TE
24. Which stain can be used to identify the 24. FESPNRINIT & TSI & o0 by
Mycobacterinm? RS &1 SUART fbar 51 goar 27
(1) Acid-fast stain 1) TRE—BrRE JARSIF
(2) Crystal Violet @) frea aree
(3) Safranin (3) IBfE
(4) Iodine @) SEEE
25. Embryonic stem cells can differentiate into 25. YOI ©H FIREN 59 UK B Biider
which types of cell? ¥ fofaa & 9ot &7
(1) Only brain stem cells and 1) waa "k vy Sl ek
specialized brain cells e Aitasn oiRERi §
(2) All types of specialized cells in the @ TR 4 o wr @ e
body B
(3)  Only cells that can produce insulin @) @I i 3‘\3‘%7{ s
PR THAT &
(4) Only cells that can produce @ Saw ¥ FRWT o W —
artificial skin I BT HHA
04 -[e Page 6 of 32
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26. Match the type of DNA damage repaired 26.

Y H &#id & PR B 9E I

with the correct repair system — FER /AR Ul & Al fere e—
A | An important | (i) [ Base Excision A Iigﬁ[tgﬂf () | earR® vfraes
post-replication Repair RSN e
repair  system m IR/ Fd
that  corrects ToTrel) T
misincorporated Tad  TIfase
nucleotides
B [ Removes (i) | Mismatch ?Ir i Fa
modified or Repair B | wuidRa 1| (1) | 39 I
damaged base g &R® JUR / T
C | Repairs double | (iii) | Nucleotide P ETHRT & |
strand breaks in Excision c @ia ;5:{" i,'ém 3 (i) T g
the DNA repair gaa qﬁg 55 GUR / TRAT
double helix Bl e
D | Operates by a | (iv) | Homologous %@W
cut-and-paich recombination D | s Gv) | aaema
mechanism that RE BRI Hq-\nfzn\—,ﬁ
removes a gﬂﬁ%ﬁ a;g
variety of bulky ‘ SRS
lesions, oo ol
including m H;Igg
imidine ;
e T
() A, Bi, Cifi, D-iv (1) A, B-ii, C-ifi, D-iv
(2 A-v, B-iii, C-fi, D (2)  A-iv, B-iii, C-ii, D-i
()  A-ii, B-i, C-iv, DA ()  A-ii, B-i, C-iv, DAii
@  A-tv, B, CHii, DA @)  A-v, B-ii, C-ii, D
27. Tt is known as the set of observable 27. I& Vel ANy &V T =y g o
characters and the sum of genotype and SFIREY iR Wiy siafhar & 9 &
environmental interaction - w9 3§ OFT O & —
(I)  Phenotype (1) ey
(2) Genotype 2 wHFEReEY
(3) Both Genotype and Phenotype (3) <iEIeREY &R fBAkEy SF
(4) Neither Genotyp; nor Phenotype @ ¥ T SiFeREY R 1§ ey
04 - el Page 7 of 32




28. When the expression of one gene is 28. WH UH Wi @i ANl &7 T AN Tellad
suppressed by the effect of a non-allelic Y @ T gRI I SR fedr wiar 8, q
gene, it is known as- 9 ST ST & —

(1) Incomplete dominance ) gl yaifaar & w9 &
(2) Pseudo-dominance () ©EH TR & wy
(3) Heterosis (B) TR D o H

(4) Epistasis @ TReRE S w7 §

29. During meiosis Reductional division and 29. SEREIRRIGA & <IRM  PRET 6T
disjunction of chromosome occurs at which mjﬁﬂﬂw o= v fQEoe foa sawen §
stage? 2IdT &7

(1) Anaphasel 1) T I
(2) Anaphase II Q) TS I
(3) Metaphase I G) e I
(4) Telophase I @ feid 1
30. If the F1 hybrid exhibits traits of both 30. IR Fl H&x I AMMGE & @ @l
parents, then this is known as- R R 8, A 59 WA BT R
T -
(1) Incomplete dominance (1) =gl wfear
(2) Dominance (2) wHIfear
(3) Codominance @) TEEEIEr
4) Allof the above @ Suda w4
31. Haplodiploid animals can be defined as- 31. TS Sgel @ uRwg fear s
(1) Animals in which females are wEAE -
diploid and males haploid (T vig R fegr = ¥
2) ﬁm;na:s ;n :hlc:: If.edrnales are @ 8 g Rt T SR 7 R
aploid and males diploi e 2 B
(3) Animals in which both female and G W G@ R W ek T EF
male are diploid P 9 &
(4) Animals in which both female and @ W Siq R arer ik ) SF)
male are haploid IR B &
04 -le] Page 8 of 32
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32. During the karyotyping, matching pairs of 32. HRICEMT & IRE PREI & G
chromosome are known as- 'g'“:ﬂ' DI FHET W & —
(1) Sex chromosome 1) [ HEEE
(2) Autosome (2) JieRM
(3) Allosome (3) v
(4) Sister chromatids @ e ﬂ?\lﬁ%@'ﬂ
33. Simple Sequence Repeats (SSRs) is also 33. ¥R A QIER[M (TH.UHAR,) & I8 A
termed as- HEl ST &
(1) Satellite 1) dedEe
(2) Megasatellite 2 T deaEe
(3) Microsatellite @) wiEE dease
(4) Indels @) =
34. Which molecular marker method does not 34. iUl aMvad AGR O SLGAL. U ©g
use amplification of DNA through PCR? N YL, BT SYART d8] Bl &7
(1) RAPD (1) JIRTUEN
(2) STS (2) vwadigE.
(3) VNIR 3) QIR
(4 RFLP 4) JIRUGTAYL
35. Random Amplified Polymorphic DNA 35. Y&A TelwEs UlaiFihd SLGAY (RAPD)
(RAPD) does not use- JRINT &l Bl & —
A. Restriction Enzyme A. XRcaw= UogH Bl
B. PCR B. QLR &
C. DNA polymerase C. ST iR Bt
D. Radio labelled probes D. Yfedieaes Weg B
, ‘Which of the following is correct? 9 4§ 9 99 ar 987 822
(1) AOnly 1) HTd A
(2) A&BBoth ) AR B M
(3) B&CBoth 3) B iR C Tl
4) A&DBoth 4 ASRD I
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36. In which type of cell of the aged father 36.

mutations are more likely to occur?

1)
2
&)
)

Muscle
Spleen
Sperm

Brain

37. Match the descriptions of mutation given in  37.
A to D with one of the possible mutation
type listed in (i} to (iv)-

A

A mutation that
changes a wild-
type allele of a
gene (regardless of
the definition) to a
different allele

Post-zygotic
(somatic)
mutation

A certain position
in one strand of
the DNA molecule
is replaced by one
of the other three
bases

Missense
mutation

A mutation where
the altered
genotype is mnot
likely to be
transferred to the
offspring

il

Substitution
mutation

A class of
that

the
substitution of one

mutation
causes
amino acid for
another

iv

Forward
mutation

1
2
3)
)

A, B-ii, C-iii, D-iv
A-iv, B-iii, C-i, D-ii
A-ii, B, C-iv, D-iii
A-iv, Bii, C-iii, D-i

9% 7T &1 Sl Bif¥eeT # SaRkads urg

S P G A By 27
@O o=
(2 =l
) TP
@ ARass

A 9 D # gHieg SauRadal & Raver &
fem @ @ @Gv) 7 Ry 7w dnfag

SARIGT & THN § Ppi—

A

UH SREgaT ol
TH oM @
UGRPd  UER
(@RaET B IRaE
foy /) @
Tellel @l Uh
AT Telld A
Cr i

i

Tee—
GiENIIEET
(&f2p)

CRITCRE]

SRR
T WE 4 Th
fftma Rufy =0
I O M H
4 U gRI
el R
TR E

T SdNad Wig)
yRafda siFeEy
$  Hami  #
WEaRT 89 @
'gmmﬂﬁsﬁ‘rﬁ

il

SORIIT Bl Td
T s B
TH AN IR
T AN
gﬁwﬁaa‘rw

iv

@
)
&)
@

A1, B-ii, CAii, D-iv
A-iv, BAiii, C-, D-ii
A-ii, B-i, C-iv, D-iii
A-iv, B-ii, CHii, D-i
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38. Number of protein-encoding genes in 38. HI™ H UCH-T=HIET SIF & G&T B8R
humans is- g —
(1)  20,000-22,000 (1) 20,000-22,000
(2)  30,000-40,000 (2) 30,000-40,000
(3)  65,000-75,000 (3) 65,000-75,000
(49 more than 1,00,000 4 1,00,000 % 31f¥m
39. When a few individuals separate from a 39. <9 @B e, TF do! gHte § Aol 7l
larger population and establish a new one W § SR Ue T wAie wenfa e €
that is isolated from the original, then this s f ES WOSRTT OBRNOE, ar g
] TG/ TR B e & @Y H S
effect/law is known as-
I & |
(1) Population bottleneck (1) e diar ST
(2) Monte Carlo effect (2) Tic Fiar T
(3) Hardy-Weinberg law (3) w—ue e
(4) Founder effect @) BTSN TH[E
40. Which statement is true for viruses? 40. ﬁﬁTﬂaﬁ @ foT BT FeF 9 27
(@) They are obligatory intracellular (1) qHEedl IATHIIDT TRondl B
parasites. =8
(2) They are saprophytes. 2) :angﬁ—cﬁ B §1
(3) They are facultative parasites. () T woidl 2 &)
(4) Al of the above @) E.qg_ﬁ Ty
41. Animal viruses don’t possess- 41. iy fowmy § w8 gar § —
(1) Genetic material (1) SgalReE it
(2) Envelop (2) TAde™
(3 Capsid 3 s
(4) Tail fibers @ Uw P BIEE
42. Match the type of disease given in A to D 42. A 9D ¥ g 991 &7 (@) H Gv) ¥ Ay
with one of the possible causative agents TV GG BRe Toie & qrT A Fi-
listed in (i) to (iv)-
A | Common Cold 1 | HINI1 A | AN SeH i |TEiel
B | Infectious i |HHV-4 B | GsbHS i | Tgyadi—4
Mononucleosis xﬁ:ﬁﬂmﬁ'\‘f
C | Swine Flu iii | H5N1 C | ¥ 9 iii | gA541
D | Avian influenza A | iv | Rhinovirus D | g SR T | iv RIS
(1)  A-iv, B, C-, D-ii (1) A-iv, B+ii, C4, D-iii
(2)  A-iv, B-iii, C-i, D-ii (2) A-iv, BAiii, C-, D-ii
(3)  A-ii, B, C-iv, D-iii (3) A, B4, C4v, D4ii
(4)  A-iv, B-ii, CHii, D+ 4 A-iv, B-ii, CHii, DA
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43. The extract of a mold, Eremothecium 43. TS Wies, T@Rfdgg 7id &1 I
gossypii, is an excellent source of - TP Sid & —
(1) Vitamin C @ fets S e
(2) Lipid 2 fofte @1
(3) Vitamin B (3) faef= &t &1
(4) Carbohydrates @) m@t BT
44, Which of the following is a kind of sexual 44. = # 9 Fa® # i dNM] @1 TBR
spore in the fungi? DT 87
(1) Ascospore (1) TEpiRER
(2) Conidiospore (2) @ffedrgR
(3) Oidia @) e
(4) Blastospore @) =RERER
45. The enzyme complex that is responsible for 45, ¥ g f&y oW 9@ fvaw @ forw
fermentation produced by yeast is- forEr GSlTSH DI & —
(1) Aldolase 1) TeSiw
(2) Dehydrogenase 2 Resseaw
(3) Invertase @) TEcq
(4) Zymase @) e
46. Which is a Mycotoxin? 46. TTH A PN ABICIRT &7
(1) Bufotoxin 1) el
(2) Dioxin 2 sERiifeE=
(3) Serin (3) AR
47. _ Prevention of the overgrowth of harmful 47. ¥EHERIET R TMGRE GEAGE] Bl
microorganisms by microbiota is known as- IfglE @1 UM BT ST ST 8-
(1) Microbial antagonism (1) wiEHifegd Vet © ®9 9
(2) Competitive inclusion 2 uRre guRe @ wa §
(3) Microbial agonist (3) AEHRTA wife & wy i
(4) None of the above @) ij,'dﬁ ¥ o 98
48. A disease constantly present in a particular 48. <l & W a1 fafRre e # ovER
region or specific population is called as- AIG[E & drell SR F1 PEl Wl & —
(1) Epidemic O vishEs
(2) Endemic (2) v
(3) Pandemic 3) b
(4) Sporadic @ e
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49. Major cause of superinfection is- 49. JRTHRM & G9E SR §—
(1) Long term use of narrow spectrum (1) dor WogA UEERREd @l
antibiotics AepIfeTd SUIT
(2) Long term use of broad spectrum 2 forga Weed  (CEEesd @1
antibiotics ABas STanT
(3) Short term use of narrow spectrum (3) W WaEm  iderite @
antibiotics aroyasIT SgaNT
4 ::t(i);tiottzzl use of broad spectrum @ frage o W@EeRe @
50. Which of the following protein directs the 50. Tr=feiRgag & & +9 W WEH WU
insertion of the HIV genetic material into the BIRGT & oW H e dl @) aTale
genome of host cell? T 9 ufdee &9 %1 o9 Sar &7
(1) RecA protein (1) RecA WEM
(2) Cro protein (2) Cro N&
(3) Integrase @) sNw
(4) Galactokinase @ Yo
51. In which of the following method, the viral 51. fr=leiiRad # 9 fow R § arma su
particles are transmitted through lysis of BIRGT 99 gRT GaRd 2 &7
cell? aERE
(1) Lyticcycle @) ad
(2) <o
(2) Lysogeny
(3 Replication 3) !”_5[2 IR
(4) Translation @ m
52. Safest and most effective means of 52. WUHMD T Bl UG- BT Fa9 YRR 3R
preventing infectious disease is- I TATET U B —
(1) Antibiotic 1 TEEEfes
(2) Disinfectant (2) Fr=ipms
(3) Antiviral &) 'Qaiﬂ'{ﬂ?’[
(4) Vaccine @ I
53. The ratio of Na* and K* pumped by the 53. Na'/K*ATPase 5T U9 f¢ 77 Na* 3fix K*
Na*/K* ATPase is - BT U Bl & —
@ 32 A1) 32
2 11 2 11
3 23 3 23
@ 34 @ 34
54, Which component of the plasma membrane 54. oW Bieell &1 B9 AT USH Ifed &
determines blood group of a person? IR TE BT ferrfor Fear 87
(1) Carbohydrates of the glycolipids 1) RS © PHIEERCH
(2) Carbohydrates of the glycoproteins (2) TWEOELH % FREESCH
(3) Integral protein 3) EhE uEE
(4) Lipid-anchored proteins @) Rfe—ves i
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55. Nucleolus present in nucleus is responsible 55.
for synthesis of-
(1) m-RNA
(2) r-RNA
(3) tRNA
(4) All of the above
§6. Histones are highly conserved, because- 56.
A) Positively charged histones interact with
the negatively charged backbone of the
DNA molecule,
B) Nearly all of the amino acids in a histone
molecule are engaged in an interaction
with another molecule, either DNA or
another histone.
Choose the correct option from the
following -
(1) Aiscorrect
(2) Bis correct
(3) Both A & B are correct
(4) Both A & B are incorrect

57. The plane of the cell furrow lies in- 57.
(1) the same plane of the metaphase
plate
(2) the opposite plane of the metaphase
plate
(3) the oblique plane of the metaphase
plate

(4) any Random Plane
58. Which cell organelle is not the part of 58.
endomembrane system?
(1) Endosomes
(2) Lysosomes
(3) Vacuoles
(4) Mitochondria

59. Detoxification  process by  smooth 59.
endoplasmic reticulum is carried out by
which enzyme?

(I) Cytochrome P450 oxygenase
(2) Collagenase
(3)  Acid phosphodiesterase

{4) Arylsulfatase A

Heelyor & forg foigR &)

(1) m-RNA
(2) r-RNA
(3) tRNA
@ Sww Wl

feem st Eftg € ife —

A) HFREE AT dret fBRReH, LAY a1
B FUAS Y alell Shar o fhar
B B

B) (o fB¥c 39 # ST ) T 3
TEN I, AT I SLTAL. W o foeH
P TR 5 Fe § ol 'Y £

= ¥ ¥ 98 Ree o1 99T N —

1N ATEE
2 BuEEl®
3 AIRBIAEE
4) A 3R B T g &

BIfDT Wig &7 9el Rerd g & —

1) WY @ © M O #

2) Ty we & udT g #
@B WIS feRe aa d
4) 159 91 grgfes aa A

BT W BIBGGET TSHWT aF @ e
e &

(1) dsKM

(2) EERH

(3 Riwer

(@) wiETiga

e oiggell onferer g Rugwo @)
Uishar fe UEH ERT B ST 27

(1) <IEERPA P450 affadicmg

() P

(@) TRe wipfegeyT

4 TReaemeT A
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60. When a residual body is retained within the 60. <E Tw ERre fis e gaa & ¥R

cytoplasm indefinitely is known as- IR PIel I &1 <& &, O S PEd
g -

(1) Mucigen granules (1) TESH BB

(2) Lipofuscin granules 2 fmgREsT sl

(3) Glycogen granules (3) TARDINH HOHY

(4) None of the above @ sSwEE d S e T8

61. Which of the following events occurs at 2 61. T4 olgciol & WX 3S% 8@l & 3R
Lac operon when lactose levels are high and TP P TR PA BT T, A FEieRad
glucose levels are low? g‘@f PIT ¥ TS o SR F wied B

?

(1) cAMP levels decrease, triggering (1) cAMP & WX HA & Wl &
binding of CAP to RNA Y IRuET Uiy 9 CAP
polymerase BT TU YR B el &

(2) cAMP activates CAP, which binds (2) CcAMP, CAP & Gishd &val 8, S
to the Lac promoter Lac WHieY & Sear &

(3) cAMP activates CAP , which binds (3) c AMP, CAP El'fl' -\q-m AT % \_J'ﬁ
to the Lac repressor protein Lac YRR 09 ¥ e 3

(4) CAP binds t? the ribosome to @ CAP Fieded @ W 3 fr
prevent translation NI

Ugard ¥ el §

62. In the Sanger sequencing method, why are 62. ¥R IgH¥el AR ¥ AT & ToEhHe
the dideoxy derivatives of nucleoside yfafedsr @ forg :Qgﬁaq‘m]gg
triphosphates (ddNTPs) used for enzymic TISHIeBe (AdNTPs) & Sraifady A BT
replication of DNA? I T8 fFar oiar 87

(1) PFor termination of synthesis of (1) | GIRINY @7 THIRT & e
DNA . @) STY GRS 9T $ Rrw

(2) For initiation of synthesis of DI'\IA G CTT TR T G @ D

(3) For continuation of synthesis of fora
DNA . .

4) wogw

{(4) None of the above @ " P T

63. The mechanism of intake of DNA fragments 63. HIRIGT §RT SMHUN & ARIH ¥ SLTAL
from the surrounding medium by a cell is el & <fefEer o fhanfafy ........ BEARN
called as- 21

(1) Transformation (1) wuERE

(2) Transduction (2) U

(3) Both(1)and(2) @ ) @R @) 2

(4) Conjugation @ dg
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64. An expression vector- 64. 5l T dwex H-
(1) always contains an origin site for (1) s uRell & fog o a1 wse
replication _ BT &1
(2) usually contains a gene that confers (2) 9HRE: Ue WM SuRed gkl &
antibiotic resistance to the bacterial ST e W] B (EeERE
host TRRRIHT FaT Pt ¥
(3) always contains DNA segment for (3) T mRNA SEET & B &
the regulation of mRNA production e ST Ee B ¥
(4) All of the above o
@ SudE Wi
65. The overhanging unpaired nucleotides 65. Uldgy TorsAl o fFar gmr SlwAw #
produced by DNA by the action of i ERsfiT spyfaa gfedicss @
restriction enzymes are calledas~- el Sl 2|
(1)  sticky ends 1) e RR
(2) single strands (2) TP g
(3) restriction fragments B) WewMm ds
(4) ligases @) =S
66. An immunogen stimulates- 66. SRIAIGF SRIT BRA & —
(1) OunlyB cells (1) g &t HIRERT B
) Only T cells @ @9 < PRBRT F _
(3) BothB and T cell @) gaﬂ"’ A S PR B iR
(4) Only macrophages 4) DA ABIPoie Bl
67. Haptens can be defined as- 67. BT P uRWIRT fFar o FHar @ -
(1) Substance of molecular weight less (1) 1000 Slced I &H aNfdgd YR &l
than 1000 Dalton, incapable of ygRf, e fFEir o1 s
stimulating antibody formation e F aramef
(2) Substance of molecular weight (2) 1000 ST § f® andaw ¥R
more than 1000 Dalton, incapable o1 uere] USERE REr @y
of stimulating antibody formation SR ﬂﬂ# 3 apgref
® 1000 Datomy cople o ® 1000 St % 7 St T o
simulating antibody formation SN ’ ¥ 2 .
(4) Substance of molecular weight ET ¥ ’
more than 1000 Dalton, capable of ) 1000 ST ) U” P HvaE AR
simulating antibody formation @ uE _Eé] I L
ST R H |EH
68. T chain is associated with which one of the 68. J sf@ar ffafeg § & 59 WEHEIST 9
following antibodies? et 87
() 1gG 1) IgG
2 IgD 2 IgD
(3 IgE (3) IgE
4 IgA @ IzA
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69. In Myasthenia gravis, antibodies are formed 69.
against-
(1)  Acetylcholine Receptors
(2) Dopamine Receptors
(3) Glutamate Receptors
(4) None of the above

70. Which of the following statement regarding 70.

HIV is true?

(1) HIV has selective tropism for T
Helper cells.

(2) CD4 molecules on T cells &
macrophages act as specific
receptors for gpl20 envelope
protein on HIV.

(3) When HIV infected T cells are
activated by antigens or cytokines,
extensive viral budding occurs,
leading to cell death.

(4) All of the above

71. RBC nucleus is lost completely during 71.
which stage of maturation?
(1) Haemocytoblast
(2) Proerythroblast
(3) Intermediate Normoblast
{(4) Late Normoblast

72. Right auricle is connected to right ventricle 72.
through-
(1) Tricuspid Valve
(2) Bicuspid Valve
(3) Mitral Valve
{(4) None of the above
73. In the stomach, which cells are filled with 73.
secretory granules containing pepsinogen?
(1) Mucous cells
(2) Parietal cells
(3) Chiefcells
(4) Ozxyntic cells

e Mfaw § P fFae e

T 87

1) CREEdPEET Raed

2 <SHFEEd ReEed

(3) ToeME ¥y

@ Sea d d B 8

TIRED @ 9w § frefaiag § § oF

AT B A 27

1 HIV § & e FildeRl & fou
TS IR Bl & 1

2 < DPERT R ABHme W
SuRerd CDy4 3] HIV & gpl20
Taey UM % faw faRme
R & w0 § a1 o< B

(3) W HIV dUslfa & oI
UEIoH A AECPlsg §RI A
2 € O U 9RRA ST B
g, e T 7 & oIl B

@ Sugw i

TRugay &1 &g s/@wer § RBC & d=a

& oRE 4 fagw &1 o 87

(1) EAEC=IRS

(2 dReRe

3) Fcwifdee dileme

@) < dAFERe

T/ affers <R e 9 e BT 8-

D) TEHRIS T FN

(2) diEHRYS 9Ied gNI

3) HISgel 9icd T

@) e # q B E

e # B W PIRE] At gad
ST BReRl ¥ W ey &7

(1) TS BB

2 WEcd HIRGY

3) A% BIRER

@ sliggHfcs DIRGY
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74. Match the different phases with the ionic 74.
events that occur during the conduction of a

nerve impulse-

A. | Resting i |Na* influx
Potential  or through leaky
Resting Phase channels and

via the opening
of voltage
gated channels

B. | Depolarization |ii | Na* channels
closes and K*
channels open
C. | Action iii [ Na* ion

Potential concentration

outside the
membrane is
higher

(1) A-iii, B-i, C-ii

(2) A-, B4, C4il

(3) A-iii, B-ii, C4i

@) A-i, B-iii, C4

75. The quality of mammalian kidney to form 75.

concentrated urine is attributed to which part
of nephron?

(I) Bowman’s capsuie

(2) Loop of Henle

(3) Calyx

(4) Distal collecting tubule

76. The acrosome of sperm- 76.
(1) Carries the enzymes that facilitate
fertilization
(2) Provides energy for sperm
movement
(3) Responsible for sperm maturation

4) Controls sperm count

RGBT AT B Hagd & <RE Hied 8F

I ot wRel w1 Rem e

HeART & ARl &Y —

A. | IRET i |Na* %7 i@l
UelRma @ A D AREH
IRSET o ¥ @R dieed

ee oAl P
AR q
I=IaE

B. | feulemisweE |ii | Nat =9 99
T WK § SR
K* 9d ga
S 2

C. | vaEH iii | fBreelt & «mER
e Na* 3m&as i

Higar  AES
Bl §

(1) A-iii, B-i, C-it
(2) A, B, CHii
(3  A-iii, B4i, C4
4) A-ii, B4iii, C4
WHRR a6 o wied H 999 B

fmar & fow wwlE @ ST R

STRe BT 87

1) 9P P

(2) T BT

(3) ol

@) oI | AAferepT

IFPIY] BT GHIER —

(1) =7 YongHl B 98 FRar &, G
e o g™ T §

@) Hm @ AR B o Wl weE
Bl B

(3 gwm uRuass & forg SoRerl
BT §
@ o B e e FEta e @
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77. Which of the following statement is 77. Wiki% &M @ sR § FA=foRag § 4 @i
incorrect about menstruation? HH Tolg &7
(1) The. beginning of the cycle of 1) =F e & TqH Bl YOS Bl
menstruation is called menarche. ISIaEl B8l Il & |
(2) At menopause in the female, there 2 #Rer § wifgky & wE
is abrupt changes in gonadotropic RUGIEUEC LU B I
hormones. aReeT e € |
_ . @ WP &9 §F BT AFI § oJawBT
(3) The menstrual fluid can easily clot.
T GhaT T
(4) During normal menstruation, about @) EEF ARE o @ SR ST
40 ml blood is lost. 40 Riieles v &% = ol &
78. Which of the following hormone is not 78. Fr=ifeifag # & @9 @ 8 98 ghaa
correctly paired? TS 87
(1) Beta cells - Insulin @ et Sif¥E - ggfor
(2) Deltacells - Somatostatin 2) T IS — R RT
(3) Alpha cells - Glucagon (3)  TSHT PP — THETT
{4) Fcells - Gastrin @ T el — ARgA
79. Chi square test is used to- 79. FHE—a TUET BT SYART FR & —
(I) measure the degree of deviation of M) =g aRew § vERTES gRkemd
the experimental result from the & fogee &7 S o7 a9 & forw
expected result (2 vt 3R el amgRy B
(2) test the closeness of observed and A BT WRE B & e
expected frequency @) EEn P R T R
(3) test the p.opulatlon variance and 1 T B B o
sample variance
(4) For all of these @) S w5 Rm
80. Standard deviation is the square root of- 80. M [oTed Silga § —
(1) Mode (1) dgclFd &I
(2) Standard error (2 9F® Fi< @
(3) Variance @) f=ar &1
(@) Regression @ AT
81. Comelation  coefficient is a number 81. WEH«H Ul [Had T o G&T 5—
between-
(1) +land+2 1 +138R+2
(2) Oand+l 2 03R+1
(3) -land0 3 -1 IR0
4 -land+1 @ -1 +1
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82. The result of a statistical test, denoted p, 82.
shall be interpreted as follows:

(1) the null hypothesis Hp is rejected if
p<0.05

(2) the null hypothesis Hp is rejected if
p>0.05

(3) the alternate hypothesis H; is
rejected if p > 0.05

(4) the null hypothesis Hp is accepted if
p <0.05

83. Which of the following tests are non- 83.
parametric test:

A. Wilcoxon paired sample test
B. Paired Sample t-Test
C. ANOVA
D. Kruskal-Wallis Test
(1) AandB
(2) BandC
3 AandD
4 AandC
84. In chromatography, which of the following 84.
can be the mobile phase?

(1) Solid or Liquid
(2) Liquid or Gas
(3) Solid or Gas
(4) Liquid only

85. Why electron microscope has high resolving 85.
power/capacity?
(1) Electromagnets
(2) Long wavelength of electrons
(3) Short wavelength of electron
(4) High voltage

86. The most common type of gel used for 86.
separation of protein used in electrophoresis
is-
(1) Polyacrylamide
(2) Agarose
(3) Carrageenan
(4) None of these

o @i werr &1 R &1 p @

w9 H QT T Y, A Sl AT g9

THR @ Sl —

(1) ¥ UReeaT Ho 3Rigd 8 Sl
T afk p<0.05

(2) T RS Hp 3FAIFd 81 St
g aflk p>0.05

(3) Joius IR Hp 31 SREPR
B f3ar wmar € afe p> 0.05

@ T IREeIT Hy WHR 8 Il &
& p<0.05

FrefeRa & 9 o= W wdEw

R-Urriifes uderT a—

A. Rieaieas giag S99 o

B. gfag dwa I3

C. gHlar

D. FEha—diierd o

1) AIRB

2) BsRC

3 AIdRD

@ AsRC

PRCE ¥, AR o9 e § @ 8

qhT & —

(1) SHTEd

(2) TaAIAE

(3) °N I i¥

(4) Daa g

EEe S G G N - B o

wifeT / &8 w1 BT 87

() FEGEF B DR

(2) SOl B 9o TNIGE] B BRU

(3) SolggiAl @ oY aRTaE] & HR

@ = dieed B PRI

JEEUETe # UiCH @ JYaRRe B fog

T AT OF 9l 999 9HR ThR &

el & —

(1) dieieframEs

(2) IFRS

(3) B

@ T PR
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87. Movement of chromosome during the cell 87. Gifdd HiReT ¥ HiRGT fuoF & RE
division and the spindle fibers in a living cell TR B Tﬂ%n AR Revea gt w1
can be studied through which technique? S [oW THiE & A 4 R
AT 57
(1) Phase-contrast microscope 1) BY FIERT JeAeE
(2) X-ray microscope (2) UFE-X gEAeE
(3)  Cell fractionation () DIRE BeEmEE
(4) Scanning electron microscope @) T serEgE geTash
88. Beer Lambert’s law proposes the relation 88. R v &1 fow fF=forfaa § @ foas
between which of the following? ST d9y @ uwaifad eear 27
(I) Reflected radiation and 1) wgida fafeor s gigar
concentration
(2) Scattered radiation and (2) foaRmr gar fafexer ofiw wigar
cancentration
(3) Energy absorption and (3) oIl argEiy SR s
conceniration
(4) Energy absorption and reflected @ St s SR R fafee
radiation
89. Which of the following method is based 89. F=fafag ¥ & o9 @ Y BEw»s
upon exposure of photographic emulsions? TARM P TRIUGR UR ARG 27
(1) Cerenkov counting 1) AT HefET
(2) Scintillation counting ) Ritewm k€T
3) Geiger-Muller Method (3) TSR IR Ry
(4) Autoradiography @) iR
90. Applied centrifugal field (G) is - 90. SIRINUT JUDBH! Bles (G) & —
A. Directly proportional to radial distance, A. IO & | BT B AT D
of the particle from the axis of rotation. AT BT &
B. Indirectly proportional to the square of B. ek & ST I & T & Lobrgurh
the angular velocity of the rotor. T &
Choose the correct answer- I8 o a—,\r
(1) Both A and B are correct 1) A sk B < w8 ¥
(g) 2 fs f:orrect bu; B ];s'lncorrect @ ATEEIRTB T
) e o @ Ams s i g
@ A 3R B 3 Tod g
91. Presence of which of the following does not  91. ©id Y90 & @] J 4L YR & HUD H AW
inhibit STR profiling when blood stains are g = 4 9 foaa suRefy TI.EIRR.
exposed to UV light? UIBISeRT ! IRl -Tal Sl &7
(1) Strand Breaks D Esagw™
(2) Forward and Reverse Primers (2 BRaS R Rad yER
(3) BFPPs @)  Sddd,
{4) Oxidative lesions @) s deE
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92.

93.

94.

95.

96.

97.

Which of the following can effectively
detect human blood serum if it is present in
traces?

(1) UVlightat 365 nm

(2) UVlightat 970 nm

(3) UVlightat 230 nm

(4) UVlightat 110 nm

Which of the following can aid in
distinguishing monozygotic twins?

(1) DNA methylation patterns

(2) DNA STR profiling

(3) CRISPR-Cas technology

(4) Phenotypic characteristics

A hair sample without root can be analysed
for-

(1) mtDNA

(2) autosomal DNA

(3) Y-chromosome

(4) All of the above

Which of the following is not a step in PCR
tecnique?
(1) Addition of primers to ends and
DNA strands
(2) Denaturation
(3) Addition of individual nucleotide
(4) Southern blotting

Vaginal fluid can be distinguished from a
mixture of vaginal and seminal fluid by
analysing the ratio of —

(1) Lactic acid and citric acid

(2) Aspartic acid and lactic acid
(3) Citric acid and glycolic acid
(4) Glycolic acid and aspartic acid

Select the detective novel written by Arthur
Conan Doyle in which the story marks the
first appearance of Sherlock Homes and
Dr. Watson-

(1) The Hound of the Baskervilles

(2) A Study in Scarlet

(3) The Kind Worth Killing

(4) The Adventures of Sherlock Homes

92.

93.

94.

9s5.

96.

97.

fr=rfeRaa ¥ 9 @iy 9F9 GT GRA &I
TN S W Uar ol Wohdi §, [RmeR &
W4 98 95 B9 A= A Alelg BIY

(1) 365 @A, &I g4l elisc

(2) 970 TILUA. &1 &I olse

() 230 TIRHE. @ AT oS

4) 110 TAGA i gdl «lse
fr=feRea § @ @9 dFgrEEifes el
BT T B H HER—AT B THal 87

(1) <IgAT Fersas tes

(2) DNA STR UIwISfiT

(3) TreR—5g el

@ vTRRle REPhag
e T o o 9 8§ o e
ST T 2—

1) mtsSigg

(2) SifcEd SITHT.

(3) TE—HENE

@) SR T
FefeRan & o9 a1 TAleR. a@ie &1
AT & 87

) JEY T o RN )yl @1

ST

(2) fageimr

(@) <fRrTa Ylaricrs & WS

@ e wiieT

Frafafaa 4 @ O 53 @1 &9 sgua
&1 veiw o A g uerel or §iF
og Terf @ Mo § e far o <w@n
&

1) Ifes e ik Rifts e

(2 vEuRfes RIS &k dfes s
3) Tifce whus 3k omsaies e
@ ?ﬁg@%ﬁ e ik TauRfes
sk @ Siga gmr fafga  oREE
VU ©I TG DY oTad deFl J Tgell
IR Tciid arF SR Sl dfeas 3 SuRefa
@ Faffeg fear s/ —

1) < ESs A% T TEided

() o &S I R

3) < @iz< 3 fhleT

@ T vsdud 3l WP B
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98. The organic extraction method that separates 98. FHMH -pyy A o IoETd We 9
epithelial and sperm cells from vaginal B BIRGRT $1 Suber PIRGRI
swab- 7T BT & —

(1) Reflux extraction 1) Ruawy Fepyo R

(2) Soxhlet extraction (2) <feaerc Fspyo AR

(3) Differential extraction (3) R Py R{fy

(4) Microwave-assisted extraction @) AEBRe—gERG P [y

99. Which of the following is not a PCR 99. fo=foiag § ¥ &= @1 yerf Qe &

enhancing additive? IS < qrer fsfea =&t 87
(1) TritonX 1) ZEcT e (X)
2) gp32 2) <32
(3) BSA (3 dlwEg
(4) Haemoglobin @ SEreR

100. HLA is present on which of the following 100. FmfaRag § ¥ 5y TORA TR YEUAT

chromosome? (HLA) 9IS grar 872
(1) Short arm of chromosome 6 1) T 6D B el
(2) Long arm of chromosome 6 (2) TORF 6 DI At gl
(3) Short arm of chromosome 9 () TR 9 B BIE ol
(4) Long arm of chromosome 9 @ TEF 9 & il Jolr

101. Match the following- 101, =ferRea &1 e &y —

A. Edward’s Syndrome 1. Chromosome 12 (A) Tvsas Rigw 1) TogH 12
B. Nocnan Syndrome 2. Chromosome 15 B) T RigH (2) TUGHA 15
C. idic15/dupl5q 3. Chromosome 18 (C) idic15/dup15q (3) TN 18

1) A-3,B-1,C-2 (1) A-3,B-1,C2

2) A-2,B-1,C3 (2) A-2,B-1,C3

3) A-1,B-3,C-2 3) A-1,B3,C2

@ A-3,B-2,C-1 4 A-3,B2,C-1

102. What is the chromosome location of HLA 102. HLA DQAI &g ORI W Rera 87
DQA1?

@ 9p (1) 9P
(2 8P 2 8p
@ 7p 3 7P
@) opP 4 6P

103. Who evolved the mathematical formula to 103. &R & 1024 Rv gicw ARfET Rerg &
supplement Henry’s idea of sorting slips in AR & e PR g3 oo
1024 pigeon holes? fofag far o7

(1) Rai Bahadur Hem Chandra Bose (1) < 9B T =g 9N
(2) Khan Bahadur Azizul Hug @) @ aER dluflug,ei T
(3) William Herschel @) Rk et
(4) Edward Richard @) TeaE Ras
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104. The Directorate of Forensic Science Services 104. BRRe g dar fwmery (DFSS) &1
(DFSS) is headed by- g s gr1 far s 27
(1) Chief Forensic Scientist-cum-Chief O T= BHRYS dsiie—de—vNd &
Justice of India T T
(2) Director-cum-Chief Forensic Arem—aE— BRI e
Scientist @) SegE
(3) President of India @ W LA .
(4) Secretary General-cum-Chief @) wENRET—wE—g BRR®
Forensic Scientist EElECY
105. The Directorate of Forensic Science Services 105. g HAG, WRd WReR 9 fhg ad 3
was established by Minister of Home affairs, RS QA FIe9red &1 ew foar?
govt. of India in the year?
(1) 2000 (1) ¥ 2000
(2) 2004 (2 a9 2004
(3) 2002 (3 a¥ 2002
@ 2005 (4 =¥ 2005
106. Embryonic and fetal skeleton is made up of- 106, URSEIFE ol Wied Fo Fafiad 4
A 59 ¥ 1 8@ 87
(1) Fibro cartilage () Al P
(2) Bones @ EERU
(3) Elastic cartilage @) sonies Sl
(4) Hyaline cartilage @) wEfeM Fiidas
107. Phenomenon in which there is a striking 107. Fr=ifoRed & & 98 o0 T FEawr ©
increase in absorbance of DNA upon o RgdieRer R gan & @y §
denaturation is known as- IeTEE gig T 27
(1) Hyperchromic effect (1) EEISHIRNE TWE
(2) Bathochromic effect (2) aTEERE T
(3) Hypochromic effect (3) TEImRHE TE
(4) None of the above @ SR ¥ Y g T8
108. While making crime scene sketch, location 108, 3TURE W &I o TR W, AR W
of interest on the walls or elsewhere in the AT 3 Her WE H Al i TTNe
enclosed space are best shown using- T e g A d 9 o 9@ B =
(1) Cross projection method of Y A &7 SR B¥ <9nar sial 87
sketching . (1) BRERT & BiE Do Ol
2 Ba.selmc method of skctchmg Q) R @ YgereT AR
(3) Trangular n'lethod of sketching (@) @RI @ TR TeR fafer
(4) Compass point method @) T e R
109. Which of the following is the best method 109. Fr=fafeg # & @FEl a1 aiga=
for conducting the search when there is an o g § a9 9T &7
air crash?
(1) Grid method Q) frs Rl
(2)  Spiral method 2) s AR
(3) Zonal method (3) oafae A
(4) Wheel search method @ D wd W
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110. Sputter coater is used in preparation of 110. F=idRad # 4 {Hw geaAcH & fog T
sample for which of the following IR &= Wel Blex &1 ST {har
microscope? ST &7
(1)  Scanning electron microscope (1) BT g AEmReT
(2)  Fluorescent microscope (2 YARWT ASHDY
| (3) Phase-contrast microscope (@) DY FTRE ASHRPIT
} (4) Dark field microscope @) T Ples ASHEBN
| 111. Elephant ivory exhibits Schreger lines with 111. BR Tiq F=faReg § & fog &w w
angles- SR Y@ yelfa evar &7
- (1) 117 degree (1 1177
(2) 115 degree @ 115 f&h
(3) 105 degree (3 105tk
4 <90 degrec (4) <90 &y
112. Which is not included in chain of custody? ~ 112. f&RMEd @ el @ e dwee) § @
A T8 87
(1) Date and Time Q) feAiw R g
(2) Numbers of Items (2) Wel @ g=
(3) Address of crime scene (3) STRET RIS FT Ul
(4) Agency/ case number @) TORN/dg HER
113. In which article of Universal Declaration of 113. Jfgvicl gz ife 7= Wseq @
Human Rights, Intellectual Property Rights fPa sgme A difge dHuar aReR
are outlined? SfeoiReag 27
(1) Atticle 15 (1) 3g=T 15
(2) Article 27 2 3;3-—5@3 27
() Article 13 8 T 13
@  Aicle 20 @) T 20
114. What is the function of the sigma unit of 114. JERIT IRTAY ST B REar
bacterial RNA polymerase? Sl BT irfelRag § § @ B 87
(1) Enables specific binding of RNA (1) ©F FHieY ¥ IARTAL Uiy
polymerase to gene promoters ¥ Afafe ERT e
(2) Contains the catalytic activity of the () Ui @7 defeies TRRR @
polymerase forT RrER B
(3) Remains part of the polymerase 3) ‘f\’ safrem @ wiifsar &
ﬂuough?ut the transcription o TR BT R 9 YT
@ ii;:)iiziiz:: sites in the ]t)r;nzcnpuon @ Siwg, 7 grebeee @ e
- ST B UEAM BT BN BRal &
115. The part of comparison microscope that 115. TeFicAd GEASH H o S 9N & TH
allows the examiner to view two objects w1 &, ey fwems <1 ol F1
simultaneously is called- ARI URIET B Tl 8-
(1) Comparator 1) FERR
(2) Stage 2 wA
(3) Spectroscope 3 A"
(4) Comparison bridge @ FRREGE e
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116.

117.

118.

119.

120.

121.

Which of the following is not the best 116.
practice to collect a dry blood stain?
(1) Swabbing using a lightly moistened

sterile swab
(2) Cat the blood stain from the item
(3) Scrap the blood stain into a clean
piece of paper
(4) Collect the entire item

The mass density of blood is- 117.
(1) Slightly greater than that of water

(2) Slightly lesser than that of water

(3) Equal to that of water

(4) None of the above

A smaller blood stain originated during the 118.
formation of the parent stain as a result of
blood impacting a surface is called as-

(1) Parent stain

(2) Satellite stain

(3) Spine stain

(4) Spatter stain

Entry wound of a bullet results in- 119.
(1) Forward spatter

(2) Back spatter

(3) Expiration pattern

(4) Cast off pattern

Total amount of DNA in a human cell is-

(1) Constant

(2) Variable

(3)- Depends on the physiological stage
of the cell

(4) Both(2) & (3)

DNA replication takes place in-

(1) S-phase
(2) Metaphase
(3) Anaphase
(4) Telophase

120.

121.

T G B TN P gedl b b oy

frerfaRaa 4 9 oFar waE mIrE A8

87

(1) T T & & wWI 4 WEa
BT

(2) oG I TA D g« B AT DA

(@) T D gH I PO B T AP
THS | G

@ TV TG I TP BRA

Iad &1 gHM g9 FrefoRaa § ¥ @

g7

(1) G B g H ST A

(2) UFr W G | AT B

(3) TFI P ga H IR

(4 SR H | DS T

U% Gdg TR VT & Y9E & RO @Ry

1o v @ T & dRE S @ Bic

F VT D g P R®IT HaT Ol 59

@) e wT @@=

) WedEe wA E=)

() g WA @)

@ W= wT (=

A B WY TE B Eiifan § € @

IR il 87

(1) RIS AR

(2) 9% Wex

(3 TEEOEREE A

@ ore i de

Mg SRl § STy B ga AR

foreeir SRWY 87

1 B

2) aRgge

(3) SRH H FRGE F@RI W

Bl B

@ i ()R (3)

fefafReg § Swn @1 dkeky

(replication) F&I BT 87

1) B

() e

(@) Iy

@ Ry
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122. The number of deciduous teeth present in 122. HiFd F iﬂ\—{c{ ?Rﬁg?ﬁ gal & g=T
human is- e S &7
(1) 10 1 10
2y 20 2 20
3 32 @3 32
@ 15 @ 15
123. Lysis of cellular and organelle membranes is 123. ®R@E R ofifta ffeedl o @+
not carried of using- fra®T ST SYa 8 fHar o7 dedr 87
(1) SDS (1) €T SeHEd dabe (SDS)
(2)  Guanidium salts (2) IR oqur (Hice)
® DIT 3 s&d
(4 Sodium Acetate @ SfEm wdee
124. Which of the following is the correct order 124. ULHIaR. uftham & TcaEi o 98 o9
of events of a PCR process? =1 4 9 B9 9r 87
(1) Denaturation, Extension, Annealing 1) fIpdiaor TR, wifeT
(2) Denaturation, Annealing, Extension @ fRodex wifeh, fwr
(3) Annealing, Denaturation, Extension ) TR, AR, ﬁ@—cﬁw
(4) Extension, Annealing, Denaturation @) RwR, TR, R
125. The temperature for annealing is- 125. =l 8 & wiifdT & fov Suge
AT B AT 872
(1)  3-5° Jower than Tm of the primer D UETR D T (Tm) § 3-5° &4
(2)  3-5° higher than Tm of the primer ) TER D AW (Tm) T 3-5° aildis
(3) Equal to that of Tm of the primer () UER P AW, (Tm) Y R®EF
(4) None of these @ sHA B 78t
126. Which of the following affects the PCR 126. = & @ &9 W Qdiem= ufrar @)
process? HHIfeT e 87
(1) Template quality (1) Uele IuETT
(2)  Inhibitors (2) 3R (@)
(3) Contaminations (3) wEfRrEE
(4) All of the above @ SR TN
127. DNA fingerprinting  technique was 127, Sy BRAET Tode Fad gm
developed by- elg 37 1 o
(1) Francis Crick 1) wiRkra e
(2) Har Govind Khorana 2 = fa< TR
(3)  Alec Jeffrey 3) Tod omd
4) James Watson @) g dfeaT
128. DNA fingerprinting technique relies on- 128. AT BRACT oo Fefalag § 9
(1) Difference in patterns of genes g R ek o 87
between individuals O =Rl @ 99 o9 @ e § oigw
(2) Difference in order of genes Q) Tiewdl & <1 i & 9 T s
between individuals (3) - AfREl & 97 F D o
(3) Difference in junk DNA patterns ¥ afaw
between individuals SR
(4) All of these @ i
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129. DNA typing is used in- 129. g8 T &1 Wi e 4 9
(1) to analyse disputed parentage M mﬁ%m ;? o
. forg
(2) to study human migration patterns @ Yot 7 T
3) to confirm cell line identi
® v @) T dET UEAE B Qe B B
(4) All of these ferg
(d) SuRiE a9
130. FEach individual has a unique DNA 130. Y& «fdg @ sfgd SLgau. Ribe
fingerprint as individuals differ from each BT &, TP To wfa gun aafld | W
other due to which of the following given fau 1w el § ¥ s a8 9 A=
options- Bidr 87
(1) Number of microsatellites on (1) TOREH W AEHRICAET B e
chromosome .
(2) Location of microsatellites on () TUE W ASHRICAZE BT R
chromosome w AR D
(3) Size of microsatellites on S = T A
chromosome @) SR
(4) All of these
131. Which of the following is not required for a 131. W& ufpw & forg F=fofea 4 9
PCR process? DI G ATD T8I &7
(1) Thermostable DNA polymerase (D) oHRed SLGEY QiR
(2) Dideoxy NTPs (ddNTPs) 2 Sk Al (ddNTPs)
(3) Primers @) A
(4) Template DNA ) TR @r-q,—.l-q-
132. The PCR technique was developed by- 132. %-\r?r.am TPE (Pas N1 fdaRa &l
Y
(1) Kary Mullis @ % IR
(2) Kohler () WiEwN
(3) Milstein @) s
4)  Aloman @) sifech
133. In a population with two alleles, ‘B’ and ‘b’ 133. U® SIeTdl # <7 Gefid ‘B’ @ ‘b’ &1 D’
the frequency of ‘b’ is 0.34. What would be P IMGRT 0.34 T | FE—aaT AR B
the frequency of heterozygotes assuming feue W YROEIE @ emgRl e
Hardy-Weinberg equilibrium? arfi?
(1) 034 (1) 034
2) 066 (2) 066
3 012 3 0.12
4 045 4 045
134. What is the approximate DNA content in 2 134. TF YHIY (W4) BIRMET &1 AT S
sperm cell? TN, ‘doc fhar sar 87
(1) 6pg (1) 6pg
@ Sps (2 5pg
3 3rpg 3 3pg
4 10pg @ 10pg
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135. In a DNA fingerprint process, HiDi 135.
formamide is used for-

(1) Stabilize denatured DNA samples
(2) Separation of denatured DNA
samples
(3) Migration of depatured DNA
samples
(4) All of these
136 Why tri-parental technology is used? 136.

(1) to prevent X-chromosome linked

diseases

(2) to prevent Y-chromosome linked
diseases

(3) to prevent autosomal linked
diseases

(4) to prevent mitochondriai DNA
associated disorders

137. Which test signifies the admissibility of 137.
scientific evidences in the court of law?

(1) Daubert’s standard
(2) Chi-square test

(3) Regression analysis
(4) Student’s T-test

138. How many STR markers are recommended 138.
for routine forensic DNA analysis in the
expanded CODIS inducted in 20177

1)y 13
2y 15
3 20
4 25

139. Which of the following is a complex STR 139.
marker?
(1) THO1
(2) CSFI1PO
(3) FGA
4) D21S11

dgn. T uffar & (HiDY)

HEEEE @ Sudr g fow fear wmr

&7

O SES QY TE B ReR B
% forg

(2 SES QTEL TED BT ST
B @ forg

() SEsS SITEU T BT ¥EE
TR G forg

@ SR SR

€IS T dedie @l SUANT R fear

ST 87

D T PRE G e W 9 =9h &
ferq

2 @€ PRE Y S A0 Y @g b

~ ferg

(3 icHEd 9 9 W ¥ U9 @
ferg _

@ TECBiFsad Sy ¥ gs Wl
¥ g9 & forg

frafafag § € a9 a1 wEer ST B

Ierea H Wierdr R JeNe Wrg 6

gEiar 87

1 Shca s

2) FE W K

3) REE TifalRE

@) wsTEdew

2017 ¥ wnfier 5y T foeaRa (Taaiifss)

CODIS ¥ fafag BRYe Sg=u. fgeyer

% forw foae TadleR At @ RpiRer

P TS B?

@®» 13

@ 15

3 20

@ 25

Fr=faRea F § B eifaed AR

PR 87

(1) THOI

(2) CSF1P0

3) FGA

4 D21811
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140. Which of the following STR marker is 140.
present exclusively on Y-Chromosome -
1) TPOX
2) VWA
(3) Amelogenin
(4) DYS391
141. In a DNA sequencing reaction using chain 141.
termination method, the ratio of ddNTPs to
dNTPs should be-
1 o
2 <«
3 1
4 >1
142. Rigor mortis is caused due to- 142.
(1) Unavailability of ATP which is
necessary to break the link between
actin and myosin
(2 Rupturing of tissue due to
unavailability of oxygen
(3) Decrease in body temperature
(4) Breakage of rigid protein molecules
in sarcoplasm

143. ABO blood group antigens in humans are 143.
differentiated from each other on the basis
of -
(1) Sialic acid
(2) Lipids
(3) Spectrin
(4) Glycoproteins

144. The main reason of occurrence of genetic 144.
variation in an organism is due to the -
(1) process of crossing over in
chromosomes
(2) process of doubling of
chromosomes
(3) the division of centromere
(4) None of these
145. Electron microscope was invented in 1931 145.
by -
(1) Knoll and Ruska
(2) Schwan
(3) Brown
(4 Zigmondy

frafefeg § @ oW fiw w9 9 a9

TRE R Aol el 87

(1) TPOX

(2) VWA

(3) Amelogenin

4 DYS391

o <fReE i & ST R ST

IshHT URifhar § ddNTPs & dNTPs ol

AT T BT =fRY?

1 o

2y <1

@ 1

4 >1

R afde FlRag #§ 9 Fas erRO

BIar 87

O TAR H uer S glded
R RM ¢ 9T B 6 B
e o foy angwas §

(2) SifFioE @ IRl S BRI
SHad BT T

(3) TR P G § FHE A

@ v 3§ Rie TdE el
BT AT

7l & v 3 udlel <% IU T

o1 59 SR W 6 TR 9 ke e

SITar 87

1) fofas e

2 fafds

@) Wi

@) TAEPECH

< oiig # argalRe uRads 8F &1 7=

R 1 Ry 1 RQawedi # 4 w1 87

(1) TEREn # BT e B B
Tisar

(2) TR & A SN B ik
3) iR &1 e
@ SR P &

ﬁmq\wﬁmmaﬁr&ma& 1931
SR fhar Tar |

(1) A R =@
(2) =™

() §&H

@ R
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146.

147.

148.

149.

150.

Which of the following enzyme is known as
molecular scissor?

(1) Endonuclease

(2) Ligase

(3) Hydrogenase

(4) Lipase

Person with Klinfelter’s syndrome possesses
chromosomes-

1 XX

2 XY

3 XXY

@ XYy
Which of the following is a nitrogen base
with maximum molecular weight?

(1) Cytosine

(2) Guanine

(3 Thiamine

(4) Uracil
Which of the following is not a molecular
marker?

(1) RFLP

{2) RAPD

3) VNIR

(4) Oligopeptides

Two alleles in a genetic marker with same
size and different intervening sequences are
calied as-

(1) Homozygous

(2) Heterozygous

(3) Isometric heterozygous

(4) Isometric homozygous

14e.

147.

148.

149,

150.

ffeiaa § & P domgH  Aieleer
RoR' & 99 § S=7 Sier 87

(1) Syl

() <

() EESIRE

@ @R

FAgBee] RigH 9 wfed @ U
frafeiad 3§ § PI9ar oG BT 82
1 XX

2 XY

(3) XXY

@ XYY

fF=foRag § 9 @9 a1 TIggioH o9 g9
3rfers 3nfdas R HT 87

1) <EdRE

@ TEEE

(3 o=HE

@ Tl
fr=foiRaas 4 9 i sftae T T8
&7

(1) SIRYB.YAY (RFLP)

2 SRTWNSE (RAPD)

3) dATAERR. (VNTR)

@ sifdiriegsa

SHfcE AER H & Ceila oer A9
T 9T BT Sl 87

() S

() EErTET

() STEuRiEe SENET

@ wEEEEe SHNETE
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Space for Rough Work / W6 &1 & fag &7

T
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